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(NEEDEME (7/1~8/22)

@ BLhlEEH
N 7/1~8/22 8/16~8/22
0 | ags | ) | mEE ] (%)
FikE 8,768 | 53.7| 3,411 | 53.4
otk | 7,574 | 46.3]| 2,973 | 46.6
&Er 16, 342 100][ 6, 384 100
@ FHABEH

N 7/1~8/22 8/16~8/22
0 s ] (o) | mEE ] (%)
LOFRum] 1,139 | 7.0 511 | 8.0
01t | 2,371 | 14.5 980 | 15.4
20f% | 4,356 | 26.7 || 1,749 | 27.4
301t | 2,638 | 16.1 | 1,015 | 15.9
/NEF] 10,504 | 64.3 || 4,255 | 66.7
401% | 2,692 | 16.5 962 | 15. 1
50t | 2,043 | 12.5 686 | 10.7
/NEF] 4,735 1 29.0 || 1,648 | 25.8
6018 617 | 3.8 229 | 3.6
70£%; 289 | 1.8 143 | 2.2
801 156 | 1.0 84 | 1.3
901X LA _L| 41 ] 0.3 25 | 0.4
/NEF 1,103 | 6.7 481 | 7.5
5EF 16,342 1 100 || 6,384 [ 100

Q@ EEREFABEEH
7/1~8/22 8/16~8/22
X5 BEH | %) || BEH| (%) || 105%
R
= 352 | 2.2 e ] 7 117.4
Tz 841 | 5.1 281 | 4.4 84.0
Ft 960 | 5.9 345 | 5.4 90.5
) 1] 727 | 4.4 306 | 4.8 74.0
N 540 | 3.3 270 | 4.2 | 102.3
R 93| 0.6 35| 0.5 85. 3
HERF 258 | 1.6 119 | 1.9 75.3
TR 122 ] 0.7 67 | 1.0 75.6
] 93 | 0.6 48 | 0.8 44.8
gk 30| 0.2 12| 0.2 23.5
FHE 123 ] 0.8 32| 0.5 31.7
PHA 197 | 1.2 101 ] 1.6 79.7
et 4,336 [ 26.5 | 1,727 | 27.1 —
[0 5,110 | 31.3 || 2,083 | 32.6 || 137.0
JF S T 1,440 | 8.8 568 | 8.9 | 107.3
SRR T 2,355 | 14.4 958 | 15.0 || 211.9
PEE T 2,267 | 13.9 756 | 11.8 || 155.0
BT 834 | 5.1 202 | 4.6 97. 4
/gt 12,006 | 73.5 |[ 4,657 | 72.9 —
St 16,342 T 100 || 6,384 ] 100 |[ 116.7
@ RELRRAEE
(X MBIEX, BEFOBBEEZHEIE. WA TEEEED,)
7/1~8/22 8/16~8/22
J A Yl TE ST /‘, / /‘, /
BEH | (%) | BEE ] (%)
KB 207 2.9 102 3.6
FE 4,263 60.3[| 1,772 63.3
WY - ik - AR 943 13.3 445 15.9
RANEDEE, Wit 770 10.9 292 10.4
UG AL — 420 5.9 79 2.8
Ry = e (5)| (0.1) 0)| (0.0)
e i R e (1o1)| (1.4) (50)| (1.8)
| (173)| (2.4) 17| (0.6)
g4I @n| (0.4 4)| (0.1)
Wik (114)| (1.6) 8)| (0.3)
Z DAt (0)| (0.0) (0)] (0.0
Z DA, 209 3.0 83 3.0
/R 6,812 96.4| 2,773] 99.0
KB 18 0.3 6 0.2
L WY - Mgk - A% 96 1.4 13 0.5
T kAt oss, s 36 0.5 4l 0.1
Z DA 107 1.5 5 0.2
/NEE 257 3.6 28 1.0
&t 7,069 100.0[ 2,801| 100.0
A 9,273 3, 583
BE 16, 342 6, 384




